Wz,

- b

A3
s NN,
AR L X K

3.15 Harvest Mailboxes: )NV AN

4 .
F -

The Builder must use the standard Harvest mailbox detail provided in these guidelines, unless otherwise &
approved in writing by the Developer, and shall be installed prior to the sale of any home.

In keeping with the community’s rural values, U.S. mail will be delivered to each home at Harvest. The steel mail-
boxes will be constructed by Brandon Industries - the Classic Oversized Rural Mailbox (model# M8) - in black.

The mailbox shall be installed on 6” square tubular steel post on 18” diameter concrete foundation 30” deep,
attached with galvanized saddle and two (2) 1/2” galvanized all-threads with nuts and fock washers.

The mailbox shall be attached to two 4”x4”x26” tubular steel beams with four set screws on inside with the beams
attached to post with two galvanized carriage bolts. The mailbox shall have the address shown with 2” height
stenciled numbers centered on face of mailbox door.

* All homes North of Old Justin
and Townside will have com-
munity cluster boxes installed

by the developers.

HARVEST DESIGN GUIDELINES 23




24

HARVEST LOGO DEQ46-28XX-8X DB

CUSTOMERS ARE REQUESTED TO CONTACT
THE LOCAL POST OFFICE BEFORE ERECTING
THE BOX TO ENSURE ITS CORRECT
PLACEMENT AND HEIGHT AT THE STREET.

CONTACT: TRAVIS TROTTER
Brandon Industries
1.972.542.3000

trotter@BrandonIndustries.com

MPQ#46-0 - 4" SQUARE DIRECT BURIAL POLE

5/16-18x1 1/4" hex bolt - | ? A
nylon flat washgr 14.5°
Drill thick side for 15.5"

maximum threads. | l

Bottom of Mailbox—=— — |- — |- —|

DRILL TWO “F" BIT
HOLES THROUGH
BOTH SIDES OF
THE POLE.

Tap thread for
5/16-18x1 1/4"
hex bolts to
attach
brackets to
pole.

Min. 42"
Above 72"
Road

Surface

Pour concrete
above ground
level to
protect the
paint finish.

)

Direct Burial Pole - Use
depth necessary to achieve
height requirement above
road surface.

Attach Kit:

4 - 5/16-18X1 1/4" Hex Bolt

4 - Nylon Flat Washer .317ID .750D T.062
4 - 1/4-20x1 1/2" phil truss bolt

4 - 1/4-20 keps nut

8 - #8 x 1" lath screw

1 - 5/32 hex key

1 - General Installation Instructions

HARVEST DESIGN GUIDELINES

FINQ-E4 - End Cap Finial (for 4" square pole)

One 5/16-18x5/16" set screw to at-
tach to pole.

(2) M8 - Mailbox

Includes Flag Kit

Mounting holes for attaching
to pan

{2)PAN SG2

Use twa 1/4-20x1 1/2" phil truss
bolls to mount lo top of bracket
Use four #8x1” lath screw to attach
mailbox through the side.

{2) DB-28 - Mounting Bracket

Jf >~

Two 3/8" holes for mounting T
the mailbox

Two 3/8" holes 1o align with

holes in pole
HARVEST LOGO - e
Engraved on front of )
MPQ#46-0 * L
16" from N/
top of pole LW 4
13.75"
\ s
————— ole
7N
7N\
7N\
N\
. \ ]

L:\Mailbox SPEC SHEETS\HARVEST LOGO DEQ46-28XX-8X
121112




